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SM3 Graphing Sine and Cosine #2

Answer the following about each equation.

1. f(6) = 65in4(9—-’25)—3

h/ &2

Period _%

2. f(0) = 10 — 3cos n(0)

a=_ =D
b=

h/ &L—
K/d* ‘ b 4

-
W
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Write the phase shift (c value), b value, period and frequency of the following without using a

calculator.
. m
3. f(8) =sin (9 +3)

phase shift (h)= le£‘\‘ 11—[2.
b= I

Y4 | g
period="Y — ZT\"

frequency=_lm‘

6. f(8) =cos2(6 —m)

phase shift (h)=_ [ gh-l' A
he 2
2w _ m

period=_=7_

Y
frequency= rr

9. f(8) =-3cos2(8 —4m)

phase shift (h)=_\C1 9&& Y

b=_ 2.
m _

period= ’2 —

frequency= \Z | ‘

4. f(0) = cos28

phase shift (h)= Noh ﬁ.
b: Z

T
period= '?""'2 =T

frequency= \1 118

7. f(6) = 7sin66
phase shift (h)=_{1ON €
b= ! 0

2w _ 10
period=_"[g = "g
| 2

f - — E
requency=_ ;%

3T
10. f(8) = sin@
phase shift (h)=__NONE,
b=\
period=_ 2W

frequency= \12 ”
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5. f(8) = sing
phase shift (h)=_NoN &
b= |

213

.-——-"-:3

period=___ Y33 = T

frequency= \Z (0 lT

8. f(6)= 8c055:-

phase shift (h)=_NON €,
s

[2 N’
period=".§: - 8Tr

\ {2 |
frequency= T

X
11. f(6) =8cosf—1n M

phase shift (h)=_NONE
b=\

period= _f\_z“- f’z‘r

frequency= \" 2 ES
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phase shift (c) and period (ﬁ)

» J: Then graph at least 1 period without a calculator, label 5 key
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) = —cos2(8 —m)
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Write an equation for the sine curve that has the given period and phase shift.

19. phase shift 3, period® 20. phase shift —, perlod— >
-5-‘@: 3in (2. Cx-b) ’FO(-) §‘n(q(x Z)

21. phase shift O, period 27

-FCsc):stnx; | £ 5.‘0'((0 Cx—@)

22. phaseshiftm, period 5
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